Process Data Analysis


1- For a first order reaction need to plot ln[A] versus t (straight line with gradient = k) and for second order 1/[A] versus t. 
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Unit conversions


2- Convert the following spectroscopic quantities as indicated.

a) 0.15 nm to Hz
b) 2000 cm-1 to µm
c) 9 GHz to cm-1
d) [bookmark: _GoBack]500 nm to cm-1
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(b) For a first order reaction need to plot In[A] versus t (straight line with gradient=k)
and for second order 1/[A] versus t. Students must plot both for full marks. For
derivations see part (iv) and (v).

For 1% order case:

LN
Time (Concentration)
0 -0.72981
300 -1.1301
600 -1.53248
900 -1.93794

1200 -2.33304
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‘Good linear fit so reaction is firstorder with rae constant equal to 1.3x10° 5.
‘Students must plot 2 order to confirm though.
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